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MEREX :

LDH (EC 1.1.1.27) J"ZAFETZ) Y. A R g, SRR IS AR By, Ak P9 B R
HIR R R¥ 8, FERE%E NADY/NADH < [A] BAF.

MERIE -
LDH 1t NAD AALALIRAE T BAIR, HERIR i — 0 5 2, 4 - AR I AL T B R — AR s, A
BRVEVA B AR, BRI S TR RR IR B RRE LE .

mEEHMUENRR:
AR OCETHBERA . BRI, Ol FTRARRAS . BE A G I/96 FLiR. ATRE. UK
HZEEAK

WIAILERRFOECH «

B 60mLx1 i, 4°CH-A7;

WA= WA S mLx1 i,  4°COREE:

WA BFx1 3¢, -20°CHRAE, FIETIIN 10pL 3057 TR 1.3 mL Z8 18K 78 /0 i i 46 FH . S 58 (R0
FJ5E-20CLRAFE, I RE R

WA= WA 5 mLx1 i, 4°CHRAF

WAIPY: Wifh 20 mLx1 i, 4°CLRAF;

WAL Wifk 100uLx1 32, 4CHRAE;

HRAUERNES:
1. 4058, ZHARBZH ST I 4

A IR, SR B B B O, B0 R R R (100 - 7
BUBARA (mL) 24 1000~5000: 1 LGB CEEIL 2000 740 R SLANMINA ImL $2HGRD, 875 il Bl e 2 1 ok
YU (UK, ThEE 20% 8K 200W, A 3s, [AJKE 10s, A 30 X); 8000g 4°CE.L» 10min, B EiE, BEIK
A

M. HBHLFE (g) « BIURAERmMLYN 12 5~10 HE] GERENZ 0.1g 44, i ImL 32
D, MATUKIB 1% . 8000g 4°C B0y 10min, X L&, BEIK AR
2. Mg CRO FE&: BRI,

ME L
v e T e BEAR A T 30min BLE, AT KR 450nm, ZIEKHAE.
2. FEARME (FF EP &R InN R ARFA)D

WA FR(uL) e xR
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A 50 50
A= 10
ZETRIK 10
FAIRE], 37°C (WAL 5K 25°C (GLek #eRKE 15min
A= 50 50
FEAMRA], 37°C UWELBIM) 8025C e WK 15min
R Y 150 150
MRS, ERFE 15Smin, 450 nm NETOCE, THE AA=A TEE-A WRE. GMEERER—
XA
LDH BN BAMHE:

a. AIEAFELELNERTEARTT

1. WRAERETMEREAZ,  yv=0.9108x+0.0037  (x NARAEMIKE, umol/mL; y N AA).
2. I C¥) LDHEAMIHE

BRI E S B mL MG G BB A Inmol PIERER & SCA— NS 715047
LDH (nmol/min/mL) = (AA-0.0037) +0.9108+Tx103=73.2xAA

3. 4. AR AZHZ LDH 35 R

(1) $ZREARR AR5

FALIE S B mg AU (VR AL 2E 1 nmol INERER & SN — AR /1 5L

LDH (nmol/min/mg prot) =[ (AA-0.0037) +0.9108xV1]+(V1xCpr)+Tx10?=73.2xAA+Cpr
TS AN E, A ) BCA & A B & Bl e iR A .

(2) RS E .

BANTIE S B g VR B AL A Inmol TARRER & XN — NS 7154407

LDH (nmol/min/g #£5) =[ (AA-0.0037) +0.9108xV1]=(WxV1+V2)+Tx10? =73 2xAA+W
(3) $%4H 1 SN L 2 P T

BRI RE S B 1 T B A oy B AL A Inmol ARG 2 SN — AN G B
LDH (nmol/min/10% cell) =[ (AA-0.0037) +0.9108xV1]+(2000xV1+V2)=Tx103 =0.037xAA

V1: IIANRBARRFREAREB, 0.01mL; V2: MASREGEAFR, 1mL; T: JNEAE], 15min; Cpr: A
FURE, mg/mL; W: FEARFIE, g; 2000: 0BRSS50 2000 J3; 10%: lumol/mL=103 nmol/mL.

b. M 96 FLRMEMHELARIAT:

1. WRAERMETMERIEAZ,  y=0.4554x+0.0037  (x NARAESIKE, umol/mL; y N A A).
2. I C¥) LDHEAMIHE

BRI E S B mL MG G B4 Inmol PIERER & SCA— NS 715847

LDH (nmol/min/mL) = (AA-0.0037) +0.4554+Tx10=146.4x (AA-0.0037)

3. 4. AUEEAZHZh LDH 35 R

(1) $ZREARER AR5

FALIE S B mg HAUER (VR AL 2E 1 nmol INERER & SN — AR /1 5L

LDH (nmol/min/mg prot) =[ (AA-0.0037) +0.4554xV1]=(V1xCpr):Tx10° =146.4x (AA-0.0037) +Cpr

A ANIE, EUE A A R BCA & A B 8 WA &
(2 FEbEAEEE 5

FALAYE e B g ABVE AL ™ 4 1nmol PIERER & XA —ANBHE ) FAL
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LDH (nmol/min/g #8) =[ (AA-0.0037) +0.4554xV1]+(WxV1+V2)+=Tx103 =146.4x (AA-0.0037) +W

(3) 220 B0 M 2 B2 15

BRI RE S BRI BN AR B AL A Tnmol BRI AE SCN— NI 1 A

LDH (nmol/min/10% cell) =[ (AA-0.0037) +0.4554xV1]+(2000xV1+V2)=Tx10°=0.073x (AA-0.0037)

V1: MARSARRPEEARER, 0.0lmL; V2: MARBOEAR, 1 mL; T: KMEE], 15 min; Cpr: HH
B SE, mg/mL; W: FEABIEL, g; 2000: 4HAUER4HE A4, 2000 J5; 10°: lumol/mL=103 nmol/mL.
1. FrdEfh R4 TE R : 0.1 umol/mL -2 umol/mL.

2. AALMEVEREDY: 0.01-1



